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Movie Money

Between them, Jem, Matt and Kate had
£18, which was exactly the right money
needed for all three of them to go to
the cinema. But none of them had the
right money for the fee, so ...

I’ll give Matt a ,
I’ll give Kate a . I’ll give Kate a
] gold coin. _ )
gold coin. silver coin.

)

How much might Jem, Matt and Kate each have to start with?

How much would they have to give each other?

Create a Movie Money problem of your own and test it with a friend.

Key Concept: Money - operations with coins
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